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Public Economics 3

Summary notes: Black et al, Chapter 9
Introduction to taxation and tax equity

Learning objective

· List alternative sources of government revenue

· Define a tax and describe the structure of tax rates

· Distinguish between general and selective taxes, specific and ad valorem taxes, and direct and indirect taxes

· List the properties of a good tax

· Explain what is meant by an equitable tax

· Distinguish between the statutory and the economic burden of a tax

· Analyse the shifting of a tax and its impact on tax incidence using both a partial and a general equilibrium framework

“The point to remember is that what the government gives it must first take away.” 

9.1  Sources of finance

Dominant source of finance for public expenditure is taxation. (E.g. in 2003/04 taxes made up 81.9% of total govt. revenue.)

Four other sources:

· User charges: Fees for delivery of public goods, can only be levied if exclusion is possible, e.g. toll roads, public swimming pools, parks

· Administrative fees: Licenses, minor traffic offences

· Borrowing: from domestic or foreign sources, must be paid back with interest, in a sense deferred taxation, should be spent on productive rather than consumption activities.  

· Govt.-induced inflation: increasing money supply, inducing inflation, and reducing the real value of the public debt, ‘inflation tax’.

9.2  Definition and classification of taxes

Compulsory transfers of resources from persons or economic units to government. (Compulsory because of the free-rider problem.) 

Still, govt. ability to tax limited by democratic process. Changes to tax system must be passed by Parliament.

Tax revenue in SA (2000/01 and 2004/04 respectively):

· Taxes on income, profit and capital gains (62.4% & 57.2%) - majority comes from individual income tax. 

· Taxes on property (1.8% & 2.7%)

· Domestic taxes on goods and services (34.6% & 38%)

· Taxes on international trade and transactions (0.4% & 3.5%)

· Other taxes (0.8% & 0.3%)

9.2.1  Tax base and rates of taxation

Could try to tax each person – lump-sum tax per head/poll tax. Problems?

Taxes generally imposed on three bases:

· Income (flow concept)

· Wealth (stock concept)

· Consumption (flow concept)

Much debate over which is the best base. Most countries use a mix of the three. Wealth tends to get off lightest (taxing a stock is not all that easy).

Tax rate structure (the amount of tax levied per unit of the tax base):

· Proportional: average tax rate constant as tax base rises

· Progressive: average tax rate rises as tax base rises

· Regressive: average tax rate falls as tax base rises

It is also possible to estimate ratio of taxes paid to income, even if tax is on a different base, to determine the distributional consequences of a tax.

· Proportional: generates the same proportion of income as income rises, flat-rate, e.g. corporate tax

· Progressive: takes an increasing proportion of income as income rises, e.g. personal income tax

· Regressive: takes a decreasing proportion of income as income rises (VAT)

NB: See Box 9.1

9.2.2  General and selective taxes

· General/broad-based tax:  covers entire tax base, allows no exemptions (VAT without zero-rating).

· Selective/narrow-based tax: levied on a particular commodity (e.g. excise tax on cigarettes).

9.2.3  Specific and ad valorem taxes

· Fixed amount of tax per unit of product is called a unit or specific tax (e.g. excise duty on cigarettes at 252.43c/10 cigarettes in 2005/06).

· Taxes levied on value of goods called an ad valorem tax (e.g. VAT, 14% of the price of a commodity).

9.2.4  Direct and indirect taxes

· Direct taxes levied on individuals and companies (personal income tax and corporate tax)

· Indirect taxes are placed on commodities (excise taxes and VAT).

9.3  Properties of a ‘good tax’

· Equity: Taxes should promote fairness in income distribution. Study of tax incidence. Ch 9
· Economic efficiency: Distortionary effects on taxpayers choices should be minimised. Study of ‘excess burden’. Ch 10
· Administrative efficiency:  Administration and compliance costs should be minimised. Ch 10
· Flexibility: Taxes and tax rates should be easy to adjust to changed economic circumstances. Ch 10
9.4  Taxation and equity: Concepts of fairness

Based on the benefit and ability-to-pay principles.

9.4.1  Benefit principle

Taxpayers should pay for the government services they use.  Non-users should not have to pay. Example of this principle at play: user charges (eg. toll road)

Advantages:

· Good for tax morality – paying for services enjoyed by a few from general revenues is likely to cause resentment

· The benefit principle also links revenue and expenditure sides of the budget, so disciplining govt. expenditure

· The market is approximated. Individuals can adjust consumption behaviour until P = MC.

Disadvantages

· Limited applicability – the closer to pure public good, the more difficult to apply the benefit principle (how to apply a user charge to defence?)

· Takes existing distribution of income for granted (provision of public services might be tailored to suit demands of the rich)

· Some public goods/services are by nature redistributive and the benefit principle cannot apply, e.g. state pension

9.4.2  Ability-to-pay principle

Non-excludable public goods cannot be funded by taxes based on benefit principle.  Cost of these goods has to be spread out according to the ability-to-pay.

Two rules emerge:

· Horizontal equity:  those with equal capacities should pay the same

· Vertical equity:  those with greater (lesser) capacities should pay more (less)

Implementation involves identifying an appropriate measure of ability-to-pay. Income is most commonly used.

Still not perfect though: Consider two people with equal characteristics and earnings potential. One is much more hard-working (works more hours) and so earns more than the other. Should she still pay more in taxes? 

Economics cannot solve the problem – decision is taken via the political process. 

Even if total income is taken to be the appropriate measure, still the problem of the appropriate rate. (Should A earning double what B earns, pay twice as much in taxes?)

Most countries use a progressive tax rate structure as an answer to the ability-to-pay question.

However, to determine whether or not taxes are truly progressive or regressive requires an understanding of who really pays the tax, i.e. the tax incidence issue.

9.5  Tax incidence: Partial equilibrium analysis

9.5.1  Concepts of incidence

While taxes can be levied on goods and services, ultimately only people can bear tax burden (e.g. shareholders, consumers, workers, landowners). 

Taxes can be shifted forward – wholesaler to retailer to customer (through price hikes), or backward, employer to employee (through wage cuts).

To deal with the question of who bears the burden, need to make a distinction between:

· Statutory incidence:  legal liability to pay tax to SARS

· Economic incidence: who ultimately bears the tax burden (what we are interested in here)

Approaches to tax incidence studies

The economic incidence of a tax depends on how the economy reacts to a tax change.

If the change in the price of a good due to a tax on it does not have repercussions on prices of other goods, tax incidence can be analysed in a partial equilibrium framework, the ceteris paribus approach.

If it is accepted that in reality ceteris paribus won’t often hold, i.e. there will be secondary etc effects and relative prices will be affected by tax changes, then a general equilibrium approach is called for.

Partial equilibrium analysis is more suitable when degrees of substitutability or complementarity are low.

With a good like fuel for e.g. – a general equilibrium approach is more suitable.

9.5.2  Partial equilibrium analysis of tax incidence

Many factors determine the ability to shift a tax.  Black et al consider two: market structure and price elasticity
Two types of tax are considered: unit tax and an ad valorem tax

Start with a perfectly competitive market, and an increasing-cost industry (supply curve upward-sloping).

Incidence of a unit tax  (see Fig. 9.1, p. 127)

Makes no difference whether the unit tax is collected from the seller or the buyer.

If imposed on the seller, the supply curve shifts upwards (parallel) by an amount equal to the tax.

If placed on the buyer, the effective demand curve (i.e., as perceived by the buyer) shifts down by an amount equal to the tax.

Tax burden is shared between seller (P0BCPs) and buyer (PmABP0) – the shares depend on relative elasticities.

Incidence of an ad valorem tax (see Fig. 9.2, p. 129)

An ad valorem tax is a proportional tax.  Imposing such a tax causes the supply curve (or demand curve) to swivel.

The higher the price, the larger the amount of tax paid in absolute terms.

It generates similar conclusions to the previous example.  The tax burden is shared between seller (P0BCPs) and buyer (PmABP0), and depends on relative elasticities.

Incidence and pure monopoly (see Fig. 9.3, p.130)

It might be thought that given their strength in the market, monopolists shift the tax forward by the full amount.

Under normal circumstances, the burden is shared (tax is only partly shifted forward). 

A unit tax t on the output of a monopoly will cause AC and MC to rise. P0 rises to P1 – shows the extent of forward shifting. Monopolist’s profits fall from P0ABC to P1CDE.

When a monopolist’s profits can be taxed directly, AC and MC curves will stay the same and the monopolist will pay the full t out of profits.

Incidence and price elasticities of demand and supply

When a tax is levied both quantity demanded and quantity supplied decreases. The extent of the decrease depends on the elasticity of demand and supply, as does the share of the tax burden. 

See Figure 9.4, p. 131. D1 is more inelastic than D0. Suppose a tax t is imposed – supply curve shifts up from S0 to S1. 

Consider D1: tax burden is shared; buyer burden (P1CDP0) greater than seller burden (P0DFP2).  Consider D0: buyer burden (P3AEP0) similar to seller burden (P0EBP4).

The more price-elastic (inelastic) the demand, the greater the proportion of the tax burden borne by the seller (buyer) – the inverse elasticity rule.

Similarly, the more price-elastic (inelastic) the supply, the greater the burden borne by the buyer (seller). 

See Figure 9.5, p.132. S1 more inelastic than S0. Suppose t is imposed on buyers. Demand curve shifts down to D1. 

Consider S1: tax burden shared; seller burden (P0BCP1) similar to buyer burden (P2ABP0). Consider S0: buyer burden greater than (P4DEP0) seller burden (P0EFP3)

The general rule is that the more inelastic the demand and the more elastic the supply, the easier it is to shift the tax forward to consumers through a higher price.

9.6  General equilibrium analysis of tax incidence

When taking the secondary effects of a tax into account, studying tax incidence in a general equilibrium framework.

Partial equilibrium analysis results may be misleading — a tax imposed on a significant sector or commodity may have large spillover effects

Because it considers what happens in all markets simultaneously, modelling is complex. Need to make certain assumptions:

· 2 products  (shoes and baskets)

· 2 factors of production (labour and capital) which are perfectly mobile between sectors

· both factors fixed supply

· shoes produced with capital-intensive technique

· baskets produced with labour-intensive technique

We want to determine the incidence of a selective and a general tax on the goods using this model.

9.6.1 A selective tax on commodities

Suppose a selective tax is imposed on shoes – the price of shoes rises relative to the price of baskets.

This increase in price has two effects:

· on the consumption (uses) side

Consumers demand fewer shoes (movement along D curve for shoes), and more baskets (shift of D curve for baskets). The price of baskets increases. The tax on one product affects consumers and producers of both products.

· on the factors of production (sources) side

Because fewer shoes are demanded, fewer shoes will be produced. Some of the capital and labour used in producing shoes becomes redundant. Shoe production is capital-intensive while basket production is labour-intensive, which means not all the capital from shoe production will be absorbed by basket production. But because capital is in excess supply, its price will fall and both sectors will end up using more capital. 

So, in addition to the rise in the relative price of baskets, a tax on shoes results in a fall in the relative price of capital (affecting the owners of capital as well).

9.6.2 A general tax on commodities

If a general tax is imposed on shoes and baskets at the same time, the tax will be borne in proportion to the consumption (income) of each member of the economy. Relative prices remain unchanged.

9.7  Tax incidence and tax equity revisited

Most taxes have distributional consequences – interested in whether a tax regime has progressive, proportional or regressive effects on income distribution.

If tax burden is on buyers, then income elasticities of demand are important. Taxes on ‘luxuries’ affect the rich (as incomes rise, demand for luxuries rises for e.g.) - so progressive. Taxes on essentials affect the poor - so VAT for e.g. would be regressive.

This would be compounded by relative propensities to consume. Consumption as a percentage of income decreases as income rises – high-income earners tend to save proportionally more.

If burden is on sellers, it falls on factors of production. The ability of the firm in question to shift the tax backward will determine whether the effect is progressive or regressive. 

Pushing it onto unskilled (low-income) workers is regressive – onto highly skilled (high-income) workers is progressive.  Onto shareholders (usually progressive, but watch out if large pension funds are major shareholders).


































